

PROJECT:

Lake Redstone Dredging 2019 - 2020 Lake Redstone Protection District (LRPD) Town of La Valle, Sauk County, Wisconsin

BID DEADLINE:

April 23, 2019 11:00 a.m., Local Time Dredgit Environmental Corp. 701 North Post Oak Road, Suite 350 Houston, TX 77024 713.979.4885 Kalyuh Services, LLC / teaming partner Water Works Marine, Inc. 112 N. Water Street, Suite 201 Sparta, WI 54656 608.881.9087 Dubuque Barge & Fleeting dba Newt Marine Service 5 Jones Street Dubuque, IA 52001 563.557.1855

-	DESCRIPTION	LINUTC	OLIANITITY	LINUT DDICE	TOTAL DDICE	OLIANITITY	LIMIT DDICE	TOTAL DDICE	OLIANITITY LINUT DDI	CE TOTAL DDICE
	DESCRIPTION	UNITS	QUANTITY	UNIT PRICE	TOTAL PRICE	QUANTITY	UNIT PRICE	TOTAL PRICE	QUANTITY UNIT PRI	CE TOTAL PRICE
	Contract A - Grading, Constructing a Farm Crossin	ng, Hydra	ulic Dredging	, Dewatering, ar	id Site Reclamation]				
	Base Bid A									
A-1	Mobilization	L.S.	1	\$732,677.00	\$732,677.00	1			1	
A-2	Dredging – Hydraulic	C.Y.	81,150	\$13.30	\$1,079,295.00	81,150			81,150	
A-3	Dewatering of Dredged Sediment	C.Y.	81,150	\$21.38	\$1,734,987.00	81,150			81,150	
A-4	Farm Access Crossing – at Disposal Site 1	L.S.	1	\$0.00	\$0.00	1			1	
A-5	Disposal Site 1.1 - Preparation & Stabilization	L.S.	1	\$0.00	\$0.00	1			1	
A-6	Stripping and Grading – Disposal Site 1.1	L.S.	1	\$0.00	\$0.00	1			1	
A-7	Seeding and Restoration - Disposal Site 1.1	L.S.	1	\$0.00	\$0.00	1			1	
A-8	Disposal Site 1.2 - Preparation & Stabilization	L.S.	1	\$0.00	\$0.00	1			1	
A-9	Stripping and Grading – Disposal Site 1.2	L.S.	1	\$0.00	\$0.00	1			1	
A-10	Seeding and Restoration - Disposal Site 1.2	L.S.	1	\$0.00	\$0.00	1			1	
A-11	Disposal Site 1.3 - Preparation & Stabilization	L.S.	1	\$0.00	\$0.00	1			1	
A-12	Stripping and Grading – Disposal Site 1.3	L.S.	1	\$0.00	\$0.00	1			1	
A-13	Seeding and Restoration - Disposal Site 1.3	L.S.	1	\$0.00	\$0.00	1			1	
A-14	Disposal Site 2.1 - Preparation & Stabilization	L.S.	1	\$102,814.00	\$102,814.00	1			1	
A-15	Stripping and Grading – Disposal Site 2.1	L.S.	1	\$22,032.00	\$22,032.00	1			1	
A-16	Seeding and Restoration - Disposal Site 2.1	L.S.	1	\$22,032.00	\$22,032.00	1			1	
A-17	Disposal Site 2.2 - Preparation & Stabilization	L.S.	1	\$39,663.00	\$39,663.00	1			1	
A-18	Stripping and Grading – Disposal Site 2.2	L.S.	1	\$8,499.00	\$8,499.00	1			1	
A-19	Seeding and Restoration - Disposal Site 2.2	L.S.	1	\$8,499.00	\$8,499.00	1			1	
A-20	Disposal Site 3.1 - Preparation & Stabilization	L.S.	1	\$283,717.00	\$283,717.00	1			1	
A-21	Stripping and Grading – Disposal Site 3.1	L.S.	1	\$60,797.00	\$60,797.00	1			1	
A-22	Seeding and Restoration - Disposal Site 3.1	L.S.	1	\$60,797.00	\$60,797.00	1			1	
	nru A-28 (Not Used)			, ,	, ,				_	
A-29	Disposal Site 4 - Preparation & Stabilization	L.S.	1	\$138,562.00	\$138,562.00	1			1	
A-30	Stripping and Grading – Disposal Site 4	L.S.	1	\$29,692.00	\$29,692.00	1			1	
A-31	Seeding and Restoration - Disposal Site 4	L.S.	1	\$29,692.00	\$29,692.00	1			1	
Total C	Total Contract A Base Bid Amount, Items A-1 thru A-31		\$4,353,755.00			No Bid				No Bid
	ALTERNATE BID NO. A-1									
A1-1	Dredging – Hydraulic	C.Y.	14,450	\$13.30	\$192,185.00	14,450			14,450	
	Dewatering of Dredged Sediment	C.Y.	14,450	\$21.38	\$308,941.00	14,450			14,450	
	intract A Alternate Bid No. A-1 Amount, Items A1-1 thru to Base Bid	A1-2,	\$501,126.00			No Bid				No Bid

Page 1 of 4 56616D 05/15



PROJECT: Lake Redstone Dredging 2019 - 2020 Lake Redstone Protection District (LRPD) Town of La Valle, Sauk County, Wisconsin BID DEADLINE: April 23, 2019 11:00 a.m., Local Time			Dredgit Environmental Corp. 701 North Post Oak Road, Suite 350 Houston, TX 77024 713.979.4885			Kalyuh Services, LLC / teaming partner Water Works Marine, Inc. 112 N. Water Street, Suite 201 Sparta, WI 54656 608.881.9087			Dubuque Barge & Fleeting dba Newt Marine Service 5 Jones Street Dubuque, IA 52001 563.557.1855		
	DESCRIPTION	UNITS	QUANTITY	UNIT PRICE	TOTAL PRICE	QUANTITY	UNIT PRICE	TOTAL PRICE	QUANTITY	UNIT PRICE	TOTAL PRICE
	Contract B - Grading, Mechanical Dredging, Dewa	tering, a	nd Site Recla	mation_							
	Base Bid B										
B-1	Mobilization	L.S.	1			1	\$1,305,922.00	\$1,305,922.00	1		
B-2	Dredging – Mechanical	C.Y.	81,150			81,150	\$16.50	\$1,338,975.00	81,150		
B-3	Hauling & Dewatering of Dredged Sediment	C.Y.	81,150			81,150	\$4.00	\$324,600.00	81,150		
B-4	Disposal Site - Preparation & Stabilization	L.S.	1			1	\$20,000.00	\$20,000.00	1		
B-5	Grading – Disposal Site	L.S.	1			1	\$5,000.00	\$5,000.00	1		
B-6	Seeding and Restoration - Disposal Site, Haul Route	L.S.	1			1	\$2,500.00	\$2,500.00	1		
Total C	Total Contract B Base Bid Amount, Items B-1 thru B-6				No Bid	\$2,996,997.00				No Bid	
	ALTERNATE BID NO. B-1										
B1-1	Dredging – Mechanical	C.Y.	14,450			14,450	\$16.50	\$238,425.00	14,450		
B1-2	Hauling & Dewatering of Dredged Sediment	C.Y.	14,450			14,450	\$4.00	\$57,800.00	14,450		
	Total Contract B Alternate Bid No. B-1 Amount, Items B1-1 and B1-2, addition to Base Bid				No Bid			\$296,225.00			No Bid

Page 2 of 4 56616D 05/15



PROJECT:

Lake Redstone Dredging 2019 - 2020 Lake Redstone Protection District (LRPD) Town of La Valle, Sauk County, Wisconsin

BID DEADLINE:

April 23, 2019 11:00 a.m., Local Time Dredgit Environmental Corp. 701 North Post Oak Road, Suite 350 Houston, TX 77024 713.979.4885 Kalyuh Services, LLC / teaming partner Water Works Marine, Inc. 112 N. Water Street, Suite 201 Sparta, WI 54656 608.881.9087 Dubuque Barge & Fleeting dba Newt Marine Service 5 Jones Street Dubuque, IA 52001 563.557.1855

		QUANTITY UNIT PRICE TOTAL PRICE									
	DESCRIPTION UNITS			UNIT PRICE	TOTAL PRICE	QUANTITY	UNIT PRICE	TOTAL PRICE	QUANTITY	UNIT PRICE	TOTAL PRICE
	Contract C - Grading, Possible Construction of a Fa	sing, Hydraul	ic Dredging, Me	chanical Dredging,	Dewatering,	and Site Reclamat	<u>ion</u>				
	Base Bid C										
C-1	Mobilization	L.S.	1			1	\$1,305,922.00	\$1,305,922.00	1	\$1,067,591.20	\$1,067,591.20
C-2.H	Dredging – Hydraulic	C.Y.				81,150	\$16.50	\$1,338,975.00	56,150	\$24.07	\$1,351,530.50
C-2.M	Dredging – Mechanical	C.Y.				0	\$0.00	\$0.00	25,000	\$22.53	\$563,250.00
C-3.H	Hydraulic Dewatering of Dredged Sediment	C.Y.				81,150	\$4.00	\$324,600.00	56,150	\$24.36	\$1,367,814.00
C-3.M	Mechanical Hauling & Dewatering of Dredged Sedi	C.Y.				0	\$0.00	\$0.00	25,000	\$24.56	\$614,000.00
C-4	Farm Access Crossing – at Disposal Site 1	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-5	Disposal Site 1.1 - Preparation & Stabilization	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-6	Stripping and Grading – Disposal Site 1.1	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-7	Seeding and Restoration - Disposal Site 1.1	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-8	Disposal Site 1.2 - Preparation & Stabilization	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-9	Stripping and Grading – Disposal Site 1.2	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-10	Seeding and Restoration - Disposal Site 1.2	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-11	Disposal Site 1.3 - Preparation & Stabilization	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-12	Stripping and Grading – Disposal Site 1.3	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-13	Seeding and Restoration - Disposal Site 1.3	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-14	Disposal Site 2.1 - Preparation & Stabilization	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-15	Stripping and Grading – Disposal Site 2.1	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-16	Seeding and Restoration - Disposal Site 2.1	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-17	Disposal Site 2.2 - Preparation & Stabilization	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-18	Stripping and Grading – Disposal Site 2.2	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-19	Seeding and Restoration - Disposal Site 2.2	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-20	Disposal Site 3.1 - Preparation & Stabilization	L.S.	1			1	\$0.00	\$0.00	1	\$282,490.00	\$282,490.00
C-21	Stripping and Grading – Disposal Site 3.1	L.S.	1			1	\$0.00	\$0.00	1	\$96,000.00	\$96,000.00
C-22	Seeding and Restoration - Disposal Site 3.1	L.S.	1			1	\$0.00	\$0.00	1	\$27,500.00	\$27,500.00
C-23 Th	ru C-28 (Not Used)										
C-29	Disposal Site 4 - Preparation & Stabilization	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-30	Stripping and Grading – Disposal Site 4	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-31	Seeding and Restoration - Disposal Site 4	L.S.	1			1	\$0.00	\$0.00	1	\$0.00	\$0.00
C-32	Mechanical Disposal Site - Preparation & Stabilizati	L.S.	1			1	\$20,000.00	\$20,000.00	1	\$123,110.00	\$123,110.00
C-33	Grading – Mechanical Disposal Site	L.S.	1			1	\$5,000.00	\$5,000.00	1	\$15,000.00	\$15,000.00
C-34	Seeding and Restoration – Mechanical Disposal Site	L.S.	1			1	\$2,500.00	\$2,500.00	1	\$22,500.00	\$22,500.00
Total C	ontract C Base Bid Amount, Items C-1 thru C-34			No Bid			\$2,996,997.00			\$5,530,785.70	

Page 3 of 4 56616D 05/15



PROJECT: Lake Redstone Dredging 2019 - 2020 Lake Redstone Protection District (LRPD) Town of La Valle, Sauk County, Wisconsin BID DEADLINE: April 23, 2019 11:00 a.m., Local Time		Dredgit Environmental Corp. 701 North Post Oak Road, Suite 350 Houston, TX 77024 713.979.4885			Sparta, WI 54656			Dubuque Barge & Fleeting dba Newt Marine Service 5 Jones Street Dubuque, IA 52001 563.557.1855		
DESCRIPTION	UNITS	QUANTITY	UNIT PRICE	TOTAL PRICE	QUANTITY	UNIT PRICE	TOTAL PRICE	QUANTITY	UNIT PRICE	TOTAL PRICE
ALTERNATE BID NO. C-1										
C1-1.H Dredging – Hydraulic	C.Y.				14,450	\$16.50	\$238,425.00	13,950	\$29.10	\$405,945.00
C1-1.M Dredging – Mechanical	C.Y.				0	\$0.00	\$0.00	500	\$22.53	\$11,265.00
C1-2.H Hydraulic Dewatering of Dredged Sediment	C.Y.				14,450	\$4.00	\$57,800.00	13,950	\$24.36	\$339,822.00
C1-2.M Mechanical Hauling & Dewatering of Dredged Sedi	C.Y.				0	\$0.00	\$0.00	500	\$24.56	\$12,280.00
Total Contract C Alternate Bid No. C-1 Amount, Items C1-1H, C1-1.M, C1-2.H, and C1-2.M, addition to Base Bid				No Bid			\$296,225.00			\$769,312.00
Addendum No. 1, 2, and 3 Acknowledged (Yes/No)		Yes			Yes			Yes		
Bid Security/Type	5% Bid Bond			5% Bid Bond			5% Bid Bond			
Apparent Low Bid	Contract A			Contract B & C						

Page 4 of 4 56616D 05/15